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Descriptor

Blank: nothing written or drawn in the lined space provided

Illegible: cannot be read; completely crossed out / erased; not
written in English

Irrelevant content: does not attempt assigned question (e.g.,
comment on the task, drawings, “?7, “1”, “I don’t know™)

Off topic: no relationship of written work to the question, no
mention of popcorn or other information from the text.

Response may identify but does not describe a safety issue
related to popping corn.

Ideas and information from the reading selection are
inaccurate.

Response provides a limited description of a safety issue
related to popping corn.

References from the text may be vague or irrelevant.

Response describes a safety issue related to popping corn.

Response contains some specific and accurate supporting
details from the reading selection, or ideas from personal
knowledge and experience.
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Response provides a thorough description of a safety issue
related to popping corn.

Response is developed with accurate and specific supporting
details from the text or from personal knowledge and
experience.

EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Respdnse
Popcorn Under Pressure

Question 12 .~ Code 1 Question 12 ~ Code 10

. Describe a safety issue related to popping popcorn. Use information from the text and
your own ideas to support your answer,

0 salehy iSSut cald b sacease celbeg o

Describe a safety issue related to popping popcorn. Use information from the text and
your own ideas to support your answer.
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Rationale: Response does not describe a safety issue
related to popping corn.

Rationale: Response does not describe a safety issue
related to popping corn.

Describe a safety issue related to popping popcorn. Use information from the text and
your own ideas to support your answer.

Question 12 Code 20
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Question 12 | Code 20

Describe a safety issue‘re]azed to popping popcorn, Use information from the text and
your own ideas to support your answer,
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Rationale: Response identifies a safety issue but
provides a minimal and vague description.

Rationale: Response identifies a safety issue but
provides a limited and vague description.




EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Response

Descriptor

Blank: nothing written or drawn in the lined space provided

Illegible: cannot be read; completely crossed out / erased; not
written in English

Irrelevant content: does not attempt assigned question (e.g.,
comment on the task, drawings, “?”, “!”, “I don’t know™)

Off topic: no relationship of written work to the question, no
mention of popcorn or other information from the text.

Response may identify but does not describe a safety issue
related to popping corn.

Ideas and information from the reading selection are
inaccurate.

Response provides a limited description of a safety issue
related to popping corn.

References from the text may be vague or irrelevant.

Response describes a safety issue related to popping corn.

Response contains some specific and accurate supporting
details from the reading selection, or ideas from personal
knowledge and experience.
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Response provides a thorough description of a safety issue
related to popping corn.

Response is developed with accurate and specific supporting
details from the text or from personal knowledge and
experience.

Popcorn Under Pressure

Question 12 . Code 30

. Descoribe a safety issue related to popping popcorn. Use information from the text and
you'r own ideas to support your answer,
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Rationale: Response identifies and describes a safety
issue related to popping corn. Some supporting details
are vague or irrelevant.

Question 12 Code 40

. Describe a safety issue related to popping popcorn. Use information from the text and
your own ideas to support your answer,
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Question

Describe a safety issue related to popping popcorn. Use information from the text and
your own ideas 10 support your answer.
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Rationale: Response identifies and describes a safety
issue related to popping corn. Response indicates a
plausible safety issue (getting hit in the eye).

Question 12

Describe a safety issue related to popping popcom, Use information from the text and
your own ideas to SUpport your answer.
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Rationale: Response indicates a safety issue (getting
burned) related to popping corn and provides specific,
accurate and relevant supporting details (flying popcorn
and hot stove) to describe the issue.

Rationale: Response identifies and describes a safety
issue related to popping corn. Supporting details are
specific accurate and relevant.




Descriptor

Blank: nothing written or drawn in the lined space provided

[llegible: cannot be read; completely crossed out / erased; not
written in English

Irrelevant content: does not attempt assigned question (e.g.,
comment on the task, drawings, “?7, “1”, “[ don’t know™)

Off topic: no relationship of written work to the question, no
mention of popcorn or other information from the text.

Response does not indicate how the text makes a complicated
process more understandable.

Ideas and information from the reading selection are
inaccurate.

Response provides a limited explanation of how the text
makes the process more understandable.

References from the text may be vague or irrelevant.

Response provides an explanation of how the text makes the
process more understandable.

Response contains some specific and accurate supporting
details from the reading selection, or ideas from personal
knowledge.
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Response provides a thorough explanation of how the text
makes the process more understandable.

Response is developed with accurate, specific and relevant
supporting details from the text or from personal knowledge.

EQAO Grade 6 Assessment
Scoring Guide — Reading — Open Response
Popcorn Under Pressure

Question 13 Code 10

How does this text make a complicated process understandable? Use information from the
text and your own ideas 10 support your answer,
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Rationale: Response refers to the text but indicates a
misunderstanding of the selection and the prompt.

Question 13 Code 20

How does this text make a complicated process understandable? Use information from the
text and your own ideas to support your answer.

Question 13 Code 10

How does this text make a complicated process understandable? Use information from the text and
your own ideas to support your answer.

This dext onokess o conapllaxde  poassss
understeundable Decante e T Can
Qo & woth  agrcent?S halp

Rationale: Response does not indicate how the text
makes a complicated process more understandable.

Question 13 Code 20

How does this text make a complicated process understandable? Use information from the
text and your own ideas to support your answer.
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Rationale: Response provides a limited explanation
with vague references to the selection.

Response provides a limited explanation with a vague
reference to the selection.




EQAO Grade 6 Assessment
Scoring Guide — Reading — Open Response

Popcorn Under Pressure

Descriptor

Blank: nothing written or drawn in the lined space provided

lllegible: cannot be read; completely crossed out / erased; not
written in English

[rrelevant content: does not attempt assigned question (e.g.,
comment on the task, drawings, “?”, “1”, “I don’t know™)

Off topic: no relationship of written work to the question, no
mention of popeorn or other information from the text.

Response does not indicate how the text makes a complicated
process more understandable.

Ideas and information from the reading selection are
inaccurate.

Response provides a limited explanation of how the text
makes the process more understandable.

References from the text may be vague or irrelevant.

Response provides an explanation of how the text makes the
process more understandable.

Response contains some specific and accurate supporting
details from the reading selection, or ideas from personal
knowledge.
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Response provides a thorough explanation of how the text
makes the process more understandable.

Response is developed with accurate, specific and relevant
supporting details from the text or from personal knowledge.

Question 13 .~ Code 30

How does this text make a complicated process understandable? Use information from the
text and your own ideas to support your answer.
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Question 13 ' Code 30

How does this text make a complicated process understandable? Use information from the
text and your[wn ideas to support your apswer.
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Rationale: Response provides an example of how this
text makes a complicated process understandable and
uses specific and accurate supporting details.

Question 13 Code 40

How does this text fake a complicated process understandable?, Use information from the

text and your own ideas to support your answer,
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Response contains some specific and accurate
supporting details from the text.

Question 13 Code 40

How does this text make a complicated process understandable? Use information from the
text and your own ideas to support your answer. o
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Rationale: Response is developed with specific,
accurate and relevant reasons and examples to explain
how this complicated process is made easier to

understand.

Response is developed with specific, accurate and
relevant supporting details.
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